03094 WEHAFEWNELEBUREE , TERNEBLELLEF

7= miiEA

ME
W
TREHTE(LALER -
BMEER 5.8,

TEHEM
TRESRE{LAL TR,
1B ER 1.4305,
T4 1.4034,

TN REELLLE
IRYER 1.4305,

Ti4H 1.4305,
RIREHREH BN ERXIEF,

Mg
W
MA@, MM BEEALE,

TEHW :
L TEL, MANBEELE, TERZEL, HAEMBRE L
H,

B
PEHEATEEIH4MEMNEMNERES ., RENREKREETERTE
g,

TEMEFARSFERERFA. SEBHELTHEXNNIGE , BI85
HBRWER

REFEXR :
BRER,

BHERR :
GH# : FHFEERS
HH : H#HEERS

1) P EH THREER A

© norelem www.norelem.com



03094 WEHAFEWNELEBUREE , TERNEBLELLEF

D2

1
==
®

L1
)

!

J

A

w r
| © "I"
i
D35
D1
03094-1105 G NE RELE | S5 M10x1 2114724 |18| 5 - 1,3 5 12 03094-91
03094-1206 G | M&El ZELALE | 6 M12x1,5 2556|2822 6 - 1,8 6 14 03094-92
03094-1308 G Ml ZRECAE | 8 M16x1,5 3374/36/30| 8 - 2,3 15 35 03094-93
03094-1410 G | &l L@ELAE 10 M20x1,5 33/80/40(30| 10 - 2,8 15 34 03094-94
03094-01105 G |T5M KWBLAE | 5 M10x1 21|47|24118| 5 - 1,3 5 12 03094-91
03094-01206 G |F™"5M ZELAE | 6 M12x1,5 2556|2822 6 - 1,8 6 14 03094-92
03094-01308 G |[F5M RE(LAE | 8 M16x1,5 33|74/36/30| 8 - 2,3 15 35 03094-93
03094-01410 G |F58M ZLBLAE 10 M20x1,5 33180(40/30| 10 - 2,8 15 34 03094-94
03094-11105 G |F"5MN REILAE | 5 M10x1 2114724 |18| 5 - 1,3 5 12 03094-91
03094-11206 G |THMN KREILALE | 6 M12x1,5 25|56|28(22| 6 - 1,8 6 14 03094-92
03094-11308 G |F™5W REILAE | 8 M16x1,5 3374/36/30| 8 - 2,3 15 35 03094-93
03094-11410 G |5 REILAE 10 M20x1,5 33/80/40(30| 10 - 2,8 15 34 03094-94
03094-2105 H Ml ZRBELAE | 5 M10x1 21 147(24|18| 5 17 1,3 5 12 03094-91
03094-2206 H NE ZRELE | 6 M12x1,5 2556|2822 6 19 1,8 6 14 03094-92
03094-2308 H Ml ZEILALE | 8 M16x1,5 33|74/36|/30| 8 24 2,3 15 35 03094-93
03094-2410 H MEl ZE{CAE (10 M20x1,5 33804030 10 | 30 2,8 15 34 03094-94
03094-02105 H | A8 Z2E{LE| 5 M10x1 2114724 |18| 5 17 1,3 5 12 03094-91
03094-02206 H |89 ZRENHLE | 6 M12x1,5 251562822 6 19 1,8 6 14 03094-92
03094-02308 H [F5% ZREHLE | 8 M16x1,5 33|74/36/30| 8 24 2,3 15 35 03094-93
03094-02410 H | T8N Z2BLE |10 M20x1,5 33/80/40(30| 10 | 30 2,8 15 34 03094-94
03094-12105 H [F8% RENLLE |5 M10x1 2114724 |18| 5 17 1,3 5 12 03094-91
03094-12206 H [F5% RENLLE | 6 M12x1,5 2556|2822 6 19 1,8 6 14 03094-92
03094-12308 H [F*8% REMLLE |8 M16x1,5 33|74/36/30| 8 24 2,3 15 35 03094-93
03094-12410 H [F8% REMLLE (10 M20x1,5 3380(40/30| 10 | 30 2,8 15 34 03094-94

© norelem www.norelem.com



